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' Select the correct answers from the
f0110wing . 1x5=5

(@) Which one of the following compounds
IS most rapidly hydrolyzed by Syl
mechanism?

() CH,—CH=CH—CI
(i) CH, =CH—CH,—Cl

(i) Q_cnz—m

266 (v) (CeHs5)5CCl
( Turn Over)



(2)

(b) Ald
ol condensation between which of

the followsi
: ing foll .
giVes mesityl oxic;)ged by’ dehydiSesS

{(ilé ;2 moles of acetaldehyde

L moles of acetone

: CH3CHO and HCHO

(tY) CH;CHO and CH.CO
3COCH3

(¢ The
product(s
OXym - ) obtai i
buwnercuratlon-demercur tinecl vwi:
; e-1 would be ation o
i
(i:) g;{s‘_CHﬁ“‘CHZ —CHO
3 _CH2CHO+HCHO

u
:ivj 233 —CH, —co—ch,
) v 3 — CH,COOH +HCOOH
is ;:;:)g the follo
oSt acidic?
((:1)) P-Nitropheng]
(i) igydrgxybmzoic acid
: ydro
(iv) P-Toluic
(E) The bﬁst re

o
ing compounds, which

benzoic acid
acid

agent
to convert pent-Ben—201

2. Answer any four of the following questions :

(@)

(b)

(c)

(d)

(e)

\nswer any two of the follo

13- (@

(3)

172%4=6

Giving a suitable example, show that in
an Sy 2 reaction inversion takes place.

How would you syn_thesize the following

alcohol from appropriate alkene(s)?
OH

TR

e does not undergo

Neo—pentylbromid
Syl reaction without rearrangement.

Explain.

Arrange the following acids in increasing
order of acid strength with proper

reasoning :
Benzoic acid, salicylic  acid,
p-hydroxybenzoic acid and
acid

m-hydroxybenzoic

thesize fumaric acid from glyoxalic

Syn :
acid and diethyl malonate, using
Knoevenagel reaction.
uNT—I
4x2=8

wing questions :

can undergo both Syl

Benzy! chloride : .
and Sn2 reactions with high rate.
Explain

; ( Turn over )



(4)

(b)

C
szmplem the following reaction and
ggest the mechanism :
Ph

2lnswer any two of the following questions :

(5)

UNiT—II
5x2=10

COOEt
HX SOClp 4 6. (a) Complete the following reaction and
D H /7N : suggest the mechanism : 3
q n
S-isomer — OH OH
] Eii
. (a |
; omment on the following statement : 2 @
n all :
with iSNz I't_factmns’ the rate increas€s
ncreasing polarity of the solvent. (b) How is glycerol obtained from propene?

(b) S Convert glycerol into acrolein. 1+1=2
Ynthesize the followi . 1—{-1‘2
() 1-Bromob o : 7. (@) What happens when p-cresol is treated

acid by ;.;1 e o pentanoic with CHClg in  presenes of NaOH?
A e unsdiecker’s reaction Complete and give the mechanism of
Tro-
aniﬁn(:3 Otf bromo-benzene fro™ the reaction. 3
reacti Y using Sandmeyer - 4o
S (b) Synthesize the following * 1+1=2
5. (@ Dy (i) m-Nitrophenol from benzene
ISCuss  th i toluidine
nuclec’philice benzyne mechanism fOF (i) m-Cresol from P~
: aro i sati : ;
Teaction. Give evidI::th : SubstltUUU: 8. (@) Esters of phenols on heating with
© Proposed mecha;:'es R 2 anhydrous AICl, undergo & rearrange-

(b) ¢ P ment to give phenolic ketones. What is
romplete the follow _ ! the reaction? Discuss the mechanism
eaction . ollowing organometa'nlc lﬁ’l involved 3

: ' I ;
o MeMel + Ethy H0" (b) Complete the following reactions : Vax4=2
(i 4 Ortho”fonnate———?—-—"? ? CHO
ii ;

Ao 2 l;Ll > 7 1) NaBH, in EtOH

0 .
8P/266 ; U 2) Aq. NH,C
( Turn over)
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(6)

0
. Il
(i) C—CH, Se0y/H,S04 L5

{[li) ‘i: all-c KMIIO4 5 -;)
(iv) QKO

CHj

Al(OCHMe,),
MCQCHOH

UNIT—III

Answer any one of the following questions : f

9.
(@ Carry out synthesis of the following

(any one) : 2

v CHS‘@ ‘—->CH3—©7CHO

(By Gattermann aldehyd€
syrlthes’s)

0 (@]
(ll) &Oﬂ Q/\)\
OH

(By Stobbe condensaﬂon} :

feactivity i

following  carbonyl
reasing order of their
Nucleophilic  addition

( Continued BP/266

(7)

(c) Discuss the mechanism of the following
reactions : 2%x2=4

(i) R T T R
HCI

(Clemmensen reduction)

i) EIO 1) NaOH
11 —> g
o 2 Ht

(Benzil-benzilic acid
rearrangement)

'10. (@) How will you obtain—

(1) acetaldehyde from acetylene;

(i) benzaldehyde from toluene? 1+1=2

(b) Complete the following reactions and
suggest the mechanism (any two) : 2x2=4

H
. NaO 5

(i) CgHsCHO + CHy
(Crossed Cannizzaro reaction)

AOCHMep);
(it) Crotonaldehyde Tsopropyl alcohol !

(Meerwein-Ponndorf-Verley
reduction)

(CH3CO)20
CH3COONa

2

(Perkin reaction)

( Turn Over )



(8)

() Benzophenone — ketoxime —
i benzanilide
(i) Benzaldehyde — benzoin — —

benzilic acid

UNIT—IV

AnSWCI' an
Yy one of the f i ti
OIIOWIIlg ques ions :

11. @ s ;
Z)nﬂ:;mze the following : 2x274
thnc acid from oxalacetic ester by
efOrmatSl{y reaction

{ii . .
) Pyruvic acid from acetaldehyde
(b)

C
onvert benzoic g

acid by Arndt- cid to phenyl acetic

Eistert synthesis. 2)

() Compl
P et.e the reaction . th
echanism . and discuss the€

2

1) Zn/ether

B
€nzophenone + BrCH,COOE
t
2) H;0"

?
(@)

How wil
y 1
e YOU convert a carboxylic acid

=7

(9)

(b) Synthesize the following : Ox0=4

(i) Propanoic acid from butanoic acid

by Curtius reaction
(i) Cinnamic acid from benzaldehyde
by Knoevenagel reaction

() Complete the following stereochemical

reaction and discuss the mechanism of
the reaction : 3

CH3
I Br,/NaOH
Hime.C s die =5 D
/\ H20
Ph  %c_NH,
UNIT—V

\nswer any one of the following questions : 2

13. What happens when a thiol reacts with an

aldehyde in the presence of HCI? Give a
method of preparation of thioether. 1+1=2

14. How would you prepare a sulphonic acid by

the Strecker reaction? What happens when a
thioether is oxidized with Hp05? 1+1=2
( Turn over)

an est i |
er Without using an alcohol? 1
12, (a)
PK,_ of
pK: o chIOfoacetic acid i |
G acetic acjq Ex 11'S St 1
) ! plain. |
( Contiﬂugd) |
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